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5R1aw explained the reason of our Xin

OVERVIEW

The mwn stated that a 7X°¥n of a Jwp belongs to his father. PXmw explained
the reason is because the child (when he picks up a X°¥n) brings it directly
to his father. The X3 interpreted 28nw to mean that the Jvp is not 7211 for
himself at all. This seems to contradict another ruling of 2X1w that the 175771
is according to "0v "1 (regarding vp?), which [seemingly] indicates that a jop
is RN™MIRTA w2 17931, The R) resolved this contradiction by saying that
X1mw indeed agrees with *0v ' that a jvp has wo1? 7°°07; however XY
was explaining the view of the Xin of our 71w» who maintains that a Jup has
no 31 at all. MoOIN explains why 2Xmw did not interpret the miwn according
to his own view that a Jup does have Rn»IR77 w17 7707,

nooIn asks:
— T NPYLA NNPPIN NI INNN YINN ON)

And if you will say; why does not 51w establish the 71wn according to

his reasoning -
— NIPYINTH NPT 2917 INIY 9207

For X2 maintains that a jop can acquire a 7x°%2 for himself xn»=K» -
— %09 %2991 172N DIV 1939 9T MAN 1229

And his father is 7217 from him 32377 because of ‘enmity’> and the 7w

will follow the view of 30 '3. Why did X1mw choose to explain that 17287 Jop NXXn
is because VaR DX 7% OR¥MY Aywaw, which indicates that a jup has no woI? 7701,
when 72X could have said the reason Yax? jop nX°xn is because of 712X, and a v indeed
does have 7wo1% 7131 even RN™MIRTN (as 2XW rules according to 01 ).

Nv0IN answers:

—>unn JOPa NYY YNRYN PNINNI AINDT JOPT 1Y Y
And one can say; that it seems to 7X1w that the term jup used in our ma»
refers to an actual Jup -

' When we assume that a Jop is w93 7197, the (only) reason that the 051 would grant the 7X"¥» to the
father is because of '712°K', but not because 1R Y¥R 7¥1MWw. See previous *X 71"7 Moon footnote # 12.

? The father will be upset that despite that he is supporting his son, the son keeps the 7x°%n.

331 1 on the "2 Ty will say that wnn Jop 10p X1 wnn 7173 2173 K9, rather the terms 2173 jup depends on
whether he is supported by his father. 2%mw disagrees and maintains that Jop means wWnn up, and even if he
is not 1ax W Hv w0 nevertheless the XN of our 7aw» maintains that 1NX*¥» belongs to his father.
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And even though this 9P is not supported by his father -
— AN NAVY IPNY ONY NN KD NINN 19 1I8YY NI NN 1PN

And if this jvp would be 777 32 MY 7297 (as 0 ' [seemingly]
maintains) the 2°»51 should not have instituted that his father should

acquire the %% -
— NIV HY 71N 1IN $90Y NN NIYYYT 119

Since in this case there is no 712°X for he is not 17712 Y¥ 7MY and since the

rule is that it does belong to his father (even if 19w ¥ 70 PX) we must -
“sy9ax TMNY NAM NN NYVAY PAND NIN Y95 NI Y51 XY INT) NIN

Rather say that the Jup is certainly not 7>wei» 71597 at all, but rather he is
7211 for his father, because at the moment he picks it up, he picks it up
for his father.

SUMMARY

DIRNWw assumes that Jup in our 7Iwn refers (even) to a Jop who is not ¥ 7m0
PaR W, and therefore if the Jwp would be (Xn»MKRT7) 7wo1% 1791, there
would be no 710 that his father should acquire it since there is no 72°X. We
must therefore conclude that the v has no w17 ;7571 at all.

THINKING IT OVER
Do %X1w and °01° " maintain (at this point when we assume that P 7°21 @°
RN™IIRTA PWDIY) that PIRY VP NR*XN?

2. Why does n1201n assume® that a Jvp who is not 1ax J72w Yy o will pick
up his 7X°xn for his father?!

* See “Thinking it over’ # 2.
3 See n"m1 and N MK >0
® See footnote # 4.
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